1.Foster:Z(p) v pociatku pol⇒Z(p)=Z(p).1/p,Z(p)=k0/p+pk∞+∑j kjp/(p2+ω2),k∞=limp→∞Z(p)/p,k0=limp→0 Z(p).p|p=0,c0=1/k, Z(p)=(p2+ω2)/p=(p2+.).(p2+.)/p.(p2+ω2).(p2+.),k1=(Z(p)/p).(p2+ ω2)|p2=-(ω)2,c=1/k,ω2=1/LC,k2=...-||-[|| m]-...2.Fost.:Y(p)= pk∞+k0/p+∑j kjp/ (p2+ω2),k0=Y(p)p|p=0,k∞=limp→∞Y(p)/p,kj=(Y(p)/p)(p2+ω2)|p2=-(ω)2,C ]L]LC] 1.Cauer:rez(Z(p)/p)=limp→∞ (Z(p)/p)=0,Z1(p)Z(p)-0,Y(p)=..,limY(p)/p=1,c=1/H.Suctova:prudy dnu,admitanc:[I1I2]=[....][U1U2],[Y]=[....],I1=y11U1+y12U2 , I2=y21U1+y22U2 ,impedancna:[U1U2] =[....][I1I2],[Z]=[....],U1=z11I1+z12I2,U2=z21I1+z22I2,hybridna:[U1I2]=[...][I1U2],U1=h11I1+ h12U2,I2=h21I1+h22U2,Sucinova:kaskadova:[U1I1] =[....][U2I2],U1=a11U2+a12I2,I1=a21U2+a22I2 spatna.k: [U2I2]=[....][U1I1] Obrazove char.:obraz.imp.:sym:Z0=a11Z0+a12/a21Z0+a22(=a11),Z0=±√a12/a21(znam.tak aby real.z.bola+),Z0=√ZVSTK.ZVST0, nesym:Z01=√a12/a21.a11/a22,Z02=√a12/a21.a22/a11,Z01=s.Z0,Z02=1/s.Z0,obraz.cin.prenosu:sym:G0=√U1I1/U2I2=a11+√a12a21,miera:gop=lnG0(p)=ap+jb(p)(obr.mier.tlm.+obr.mier.faz.pos.),A=[ cosh g0 Z0.sinh g0 1/Z0.sinh g0 cosh g0],Gop=πGok,g0p=∑ g0k,nesym:G0= √a11a22+√a12a21,A=[s.cosh g0 Z.sinh g0 1/Z0.sinh g0 1/s.cosh g0],Prevadzkove char.:Gp= Uv/2U2.√Zs/Zv, gp =ln Gp,Hyperbolicke:sinh x=-i.sin i.x,cosh x=cos i.x Lim: limp-∞p2/p=0, p2/p2.(1+4/p(=0))/(1+0)=1
√∞∩∫

